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:  

k = 100 /  = 100 000 /   
a = 2 / 2  
x = 9  = 0,09  
μ = 0,4  

g = 10 / 2  

F  – F  = ma; 
F  = kx; 
F  = μmg; 
kx – μmg = ma; 

.kxm
a g

 

m – ? : m = 1500 . 
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  2 ,     5 . 
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 = 920 /( ·º ) 
 = 4200 /( ·º ) 

R = 2  
m  = 120  = 0,12  
m  = 50  = 0,05  

 = 0,8 
u = 5  
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1.    
( . ). 

2. F  = mg = ; F  = kx, , k = P
x

. 

3. x = 25  = 0,025 ,  P = 1 H. 
4. k = 1 : 0,025 = 40 / . 

  
  ,  x   -

  23  27 ,  P     0,8 
 1,2 . 

  « - »  = (20 ± 3) ;  
 = (1,0 ± 0,2) . 
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 = 0,05  
k = 100 /

 
 

 = 0,2 
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F  = kx; F  = mg; 

.kxm
a g

 

m – ? : m = 2 . 
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